
MATHS

BOOKS - KC SINHA ENGLISH

TRIGONOMTERY - PREVIOUS YEAR QUESTIONS - FOR

COMPETITION

Exercise

1. The value of 

 is ________.

Watch Video Solution

6 + log3 / 2
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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4mnliUcikjm4


2. Let PQR be a triangle of area  with , and ,

where a, b and c are the lengths of the sides of the triangle opposite to

the angles at P, Q and R, respectively. Then  equals

Watch Video Solution

Δ a = 2, b = 7/2 c = 5/2

2 sin P − sin 2P

2 sin P + sin 2P

3. Let 
 be such that 
 for 


 . Then the value(s) of 
 is (are)
 
 (b) 


(c) 
(d) 

Watch Video Solution
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4. Prove that 

Watch Video Solution

tan 9∘ − tan 27∘ − tan 63∘ + tan 81∘ = 4

5. The equation  hasesin x − e − sin x − 4 = 0

https://dl.doubtnut.com/l/_8raFQCdn3MSD
https://dl.doubtnut.com/l/_wn4rwQtO3yjf
https://dl.doubtnut.com/l/_PdFisMzAU2HM
https://dl.doubtnut.com/l/_JbraaFWPuX5K


Watch Video Solution

6. In a 
 , if 
and 
 , then

the angle R is equal to
(1) 
(2) 
(3) 
(4) 

Watch Video Solution

ΔPQR 3 sin P + 4 cos Q = 6 4 sin Q + 3 cos P = 1
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7. ABCD is a trapezium such that AB and CD are parallel and . If 

, then AB is equal to

Watch Video Solution

BC ⊥ CD

∠ADB = θ, BC = p and CD = q

8. If x, y, z are in
 A.P. and 
 are also in A.P.,

then (1) 
(2) 
(3) 
(4) 

Watch Video Solution

tan− 1x, tan− 1y and tan− 1z

2x = 3y = 6z 6x = 3y = 2z 6x = 4y = 3z x = y = z

https://dl.doubtnut.com/l/_JbraaFWPuX5K
https://dl.doubtnut.com/l/_zXxm2AT0BBUH
https://dl.doubtnut.com/l/_7FgyiV5klqE1
https://dl.doubtnut.com/l/_gU1niq4eq4D3


9. Prove that : 

Watch Video Solution

+ = 1 + sec A.cosecA
tan A

1 − cot A

cot A

1 − tan A

10. If

then tan S is equal to

Watch Video Solution

S = tan− 1( ) + tan− 1( ) + … + tan− 1(
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11. The number of solution of the equation


is equal to
3 (b) 4
(c) 5 (d)
6

Watch Video Solution

sin 2θ − 2θπ + 4 sin θπ = 4 ∈ [0, 5π]

https://dl.doubtnut.com/l/_QhIIPmWlZEB5
https://dl.doubtnut.com/l/_RTJxFmrCv6DY
https://dl.doubtnut.com/l/_0WNDKhif8vPB


12. The value of  is (a)  (b)  (c) 

(d) 

Watch Video Solution

cot(
23

∑
n = 1

cot − 1(1 +
n

∑
k = 1

2k))
23

25

25

23

23

24

25

26

13. The number of points in  for which 

 is

Watch Video Solution

[ − ∞, ∞)

x2 − x sin x − cos x = 0

14. about to only mathematics

Watch Video Solution

15. If 
 , then 
 
 (b) 


(d) 

W t h Vid S l ti

3x = 4x − 1 x =
2(log)32

2(log)32 − 1
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https://dl.doubtnut.com/l/_7FdhwgPon430
https://dl.doubtnut.com/l/_BOEcShziKyzu
https://dl.doubtnut.com/l/_PHETxGl1NtYf
https://dl.doubtnut.com/l/_AhVf9lfde5gE


Watch Video Solution

https://dl.doubtnut.com/l/_AhVf9lfde5gE

